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1.  ( 18 ) 
1.1 ( 10 )

[ 1](1 ) 
 

double seisu; 
  

[ 2](1 ) 
 
int hairetu[100]; 
 

  
 
 

[ 3](2 ) 
 
struct kozotai{ 
 int mi; 
 double mx; 
}; 

 
[ 4](2 ) 
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[ 5](2 ) 
 

 
 
  

[ 6](2 ) 
 

 

 
 
 
 
1.2 ( 8 ) 

[ 1](2 ) 
 

struct student{ 
 char name[64]; 
 int english; 
 int mathematics; 
 double weight; 
}; 
  

[ 2](2 ) 
 
struct student akita_kosen[50];

 
 

[ 3](2 ) 
 

akita_kosen[29].mathematics = 65; 
  

[ 4](2 ) 
 
m = akita_kosen[29].mathematics; 

 
 

2.  ( 22 ) 
[ 1]( 1 ) 
 
 [ ] 1110 [ ] 1111  [ ] 10000 [ ] a [ ] b 
 
 

 [ ] c [ ] d [ ] e [ ] f [ ] 10 
 
 

[ 2](4 ) 
 

(10110101)2=(1�2
7+1�25+1�24+1�22+1�20)10 

 =(128+32+16+4+1)10 
 =(181)10 

 
 
2 4 16 1 2

4 16  
 

  (1011)2 =(8+2+1)10 =(b)16 
  (0101)2 =(4+1)10 =(5)16 
   

(10110101)2=(b5)16  
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[ 3](4 ) 
 

(267)10 =(256+8+2+1)10 
 =(100001011)2 
 

( ) 
   2) 267 - 1 
   2) 133 - 1 
   2) 66 - 0 
   2) 33 - 1 
   2) 16 - 0 
   2) 8 - 0 
   2) 4 - 0 
   2) 2 - 0 
    1  

 

 
 

2 4 16 1 2

4 16  
 

  (1)2 =(1)10 =(1)16 
  (0000)2 =(0)10 =(0)16 
  (1011)2 =(8+2+1)10 =(b)16 
   

(267)10=(10001011)2=(10b)16  

 
 
[ 4](4 ) 
 

16 1 2 4  
  (c)16 =(12)10 =(8+4)10 =(1100)2 
  (8)16 =(8)10 =(8)10 =(1000)2 
   

(c8)16=(11001000)2  

(c8)16 =(12�16
1+8�160)10 

 =(192+8)10 
 =(200)10 

 

 
 
 
 
 
 

3.  ( 26 ) 
3.1 ( 14 )

[ 1]( 1 ) 
 
 [ ]  [ ]   [ ]  [ ]  [ ]  
 
 
 

[ 2]( 3 )
 

 
( )

CPU  

 
 

 
 

 
 
 
 
[ 3](1 ) 
 

 
 

[ 4](1 ) 
 

 
 

[ 5](1 ) 
 

 

 
 
 
 
 

3.2  ( 12 ) 
[ 1](1 ) 
  
 64  

 16  

[ 2](1 ) 
 

8  

[ 3](1 ) 
 

32  

[ 4](1 ) 
 

8  
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[ 5](5 ) 
  

8

8

(00000000)16 (ffffffff)16

 

[ 6](3 ) 
 

 1  
 

 4  
 

 8  
 

 
 
 
 
 

 

4.  ( 23 ) 
[ 1](3 ) 

 
 

 
 
 
 
 

[ 2](2 ) 
 

int *pint; 
double *pdouble; 

[ 3](2 ) 
 

ip=&iv;

 
 

 
 

 
 
 
 
[ 4](2 ) 

 
j = *ip; 

[ 5](3 ) 
 

 ffddaa88 
 
 bffff690 

 

 ffddaa88 
 

 
 
 
[ 6](6 ) 
 

�
 

[ 7](5 ) 
 

16  
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5.  (11 ) 
 

 
#include <stdio.h> 
 
struct seiseki{ 
  int kokugo; 
  int sansu; 
}; 
 
int main(void){ 
 
  struct seiseki shimada, yamada; 
 
  shimada.kokugo=49; 
  shimada.sansu=84; 
 
  yamada.kokugo=65; 
  yamada.sansu=75; 
 
  printf("heikin shimada = %d\n", (shimada.kokugo+shimada.sansu)/2); 
  printf("heikin yamada  = %d\n", (yamada.kokugo+yamada.sansu)/2); 
 
  printf("heikin sansu   = %d\n", (shimada.sansu+yamada.sansu)/2); 
  printf("heikin kokugo  = %d\n", (shimada.kokugo+yamada.kokugo)/2); 
 
  return 0; 
} 
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